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Add�DQG�VXEWUDFW�multiples of 10�DQG����
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3UDFWLFH�6KHHW�+RW
Adding and subtracting multiples of 10 and 100

ZRUG�SUREOHPV

Sophie had collected 58 football stickers. Then she bought 20 more. 
How many does she have now?

.HQW�FULFNHW�FOXE�VFRUHG�����UXQV�LQ�WKHLU�ILUVW�LQQLQJV��7KH\�VFRUHG�D�
further 300 runs in their second innings. What is their total score?

(PLO\�KDG����/HJRĸ�PLQLILJXUHV��6KH�GHFLGHG�WR�JLYH����DZD\���+RZ�
many did she have left?

George had 341 days to wait until his birthday. After 200 days wait, 
how many days were left until the big day?

There are 273 people in the audience. 40 more people come in. How 
many altogether?

There were 222 ants in the colony. If 300 more move in, how many 
would be in the colony?

7KHUH�ZHUH�����ILVK�LQ�D�VKRDO�����ZHUH�HDWHQ�E\�VRPH�SDVVLQJ�VKDUNV��
+RZ�PDQ\�ILVK�DUH�OHIW"

There were 735 people on the beach. 400 left because it got too 
hot. How many were left?

Challenge

Make up word problems of your own using the following rules:
• just the 10s digit changes.
• just the 100s digit changes.
• both the 10s and the 100s digits change.

1.

2.

3.

4.

5.

6.

7.

8.
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3UDFWLFH�6KHHWV�$QVZHUV

�� 6RSKLH�KDV����IRRWEDOO�VWLFNHUV�
�� .HQW�FULFNHW�FOXE�KDV�D�UXQQLQJ�WRWDO�RI�����
�� (PLO\�KDV����/HJRĸ�PLQLILJXUHV�OHIW�
�� *HRUJH�KDV�����GD\V�WR�ZDLW�XQWLO�KLV�ELUWKGD\�
�� 7KHUH�DUH�����SHRSOH�LQ�WKH�DXGLHQFH�
�� 7KHUH�DUH�����DQWV�LQ�WKH�FRORQ\�KLYH�
�� 7KHUH�DUH�����ILVK�OHIW�
�� 7KHUH�DUH�����SHRSOH�OHIW�RQ�WKH�EHDFK�

$GGLQJ�DQG�VXEWUDFWLQJ�PXOWLSOHV�RI����DQG�������ZRUG�SUREOHPV��KRW�

$GG�DQG�VXEWUDFW�PXOWLSOHV�RI����DQG������PLOG�
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Secret 6pider�

Work in pairs 

Learning outcomes:
� I can add and subtract 20 using a 1-100 grid.
� I am beginning to add and subtract 20 without a 1-100 grid.

Things you will need:
� A spider
�
�

A 1-100 grid
Addition and subtraction cards
A pencil

What to do:

� Spread the cards out on the table.

� Choose a card without pointing to it.
Don’t tell your partner which card you chose.

� Use Spider to show the secret addition or
subtraction on the grid.

� Can your partner guess which card you chose?
If so, you both win 10 points.

� Write the addition or subtraction Spider
worked out, including the answer.

� Swap roles and repeat.
See if you can score at least 50 points.

S-t-r-e-t-c-h:
Choose an addition and work out the answer without using Spider on the grid.
Choose a subtraction and work out the answer without using Spider on the grid.

35 + 20 = 55
���- �0 = 

$�%LW�6WXFN"
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Place value puzzles

Challenge

1. Write any 3-digit number.
Subtract your choice of 1-digit number.
Is your answer a multiple of 100?

No:  Adjust your starting number so that when you subtract your chosen
1-digit number, the answer is a multiple of 100.

Yes:  Go to question 2.

2. Write three other 3-digit numbers that share this property.
What property do these numbers all share?

3. Write four 3-digit numbers where subtracting a number more than 90
gives a multiple of 100.
What property do these numbers all share?

4. Write four 3-digit numbers where subtracting a number greater than 500
gives a 2-digit number.
What property do these numbers all share?

5. Write four 3-digit numbers where subtracting 99 gives a 2-digit number.

6. Make up another puzzle like this for your partner to try.

How many times can I add 110 to 209 before I get over 1000?  
What 3-digit number should I start with to enable me to add 111 eight times and 
get 998?
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